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1. RORZHNBOMREX. (S50, A1 258, B2 30%, C#dy)

(1) a’?+ab+b—1 (2) 2?2+ oy +3z+2y+2
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2. ROXZHBOEEX. (SH1, AR1740F%, B#34r, C#44r 308 )

(1) a?—ac—b*+bc (2) 22 —-2z2y—3z+2y+2
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1.

R#HTFAL XFHX EHGE BRTEEHS 01 BEHESH

ROX %2 KB L. (S50, Afk13 258, Bik24 30, Cikdn)

* BRTEEHS

(1) a®+ab+b—1

a®2RXA, bD1XRA

= XD TELEDS.

HEA=ab+b+a% -1

=(a+1)b+(a+1)(a—-1)

=Ab+ Ala—1) < A=a+1

=A{b+ (a—1)}

=(a+1)(b+a-1)

= (a+1)(a+b—1)

© B - BEERL L7 o1 (http : //www.enjoymath.sakura.ne.jp/index.html )

(2)

22 4+ xy + 3z + 2y + 2

x D2RA, y D 1R

= EBRDOyTEEDD.

HRX =2y +2y+ 2% + 32+ 2
=(z+2y+(z+1)(z+2)
=Ay+(z+1)A < A=z+2
=A{y+(z+1)}
=(@+2)(y+z+1)

=(@+2)(z+y+1)
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2.

ROARZENE R X, (SH17, AR1340%, B33, CH45330F)

(1) a?—ac—b*+bc

a2, bD2RA, cD1RA

= BRXDcTELDS.

5K = —ac+bc+a? - v?
= —c(a—b)+ (a+b)(a—10)
——cA+(a+D)A < A=a—b
=A{-c+ (a+b)}
=A(—c+a+b)

=(a—"b)(a+b—c)
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(2) 2?2 —2zy—3x+2y+2
xD2RA, y D 1RKA
= BRXDyTELDS.
HA = 22y +2y+ 2% -3z +2

=2y(x—1)+(z—1)(z—2)

=-20A+A(x—-2) < A=z-1

= A{-2y+(z-2)}
=(@-1)(-2y+z—-2)

=(x—1)(x — 2y — 2)
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